
∆x = ∫ v dt          v = dx          a = dv          g = 9.81 m/s2          Fnet = ma = dp          Fbuoy. ∝ Vdisp.ρfluid          Ffr ∝ FN           

pressure = F/A          p = mv          Impulse = ∫ Fnet dt = ∆p          Fg = GMm/r2          G = 6.67×10-11                             

MEarth = 6×1024 kg          REarth = 6.4×106 m          T2/R3 = constant          Fc = mv2/r          v = 2πr/T          vorb =  √(GM/r)          

FE = kQq/r2          k = 9×109          qelectron = -1.6×10-19 C          qproton = +1.6×10-19 C          E = FE/q          V = IR               

R ∝ L/A          FB ∝ 1/r2          B ∝ I/r

dtdtdt
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